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QUADRATIC EQUATIONS

Practice Set 2 1

1. Write any two quadratic equations.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_iDJTXMjK6MHw


2. Decide which of the following are quadratic

equations : 

Watch Video Solution

x2 + 5x − 2 = 0

3. Decide which of the following are quadratic

equations : 

Watch Video Solution

y2 = 5y − 10

https://dl.doubtnut.com/l/_70mEjFLN1y18
https://dl.doubtnut.com/l/_e3V0Mt80DE7Y


4. Decide which of the following are quadratic

equations : 

Watch Video Solution

y2 + = 2
1

y

5. Decide which of the following are quadratic

equations : 

Watch Video Solution

x + = − 2
1

x

https://dl.doubtnut.com/l/_E62rZSkPMsGs
https://dl.doubtnut.com/l/_Bh4HCygZMJWA


6. Decide which of the following are quadratic

equations : 

Watch Video Solution

(m + 2)(m − 5) = 0

7. Decide which of the following are quadratic

equations : 

Watch Video Solution

m3 + 3m2 − 2 = 3m3

https://dl.doubtnut.com/l/_aRUNUrLDqjGA
https://dl.doubtnut.com/l/_C88CALUWzk8R


8. Write the following equatratic equations in the

form . Write the value of a, b, c, for

each equation. 

Watch Video Solution

ax2 + bx + c = 0

2y = 10 − y2

9. Write the following equations in the form of

, then write the values of a,b,c for

each equation. 

Watch Video Solution

ax2 + bx + x = 0

(x − 1)2 = 2x + 3

https://dl.doubtnut.com/l/_LALxYi480gf3
https://dl.doubtnut.com/l/_EGCnjHNpXeub
https://dl.doubtnut.com/l/_Bz4XltJ5yGlT


10. Write the following equations in the form of

, then write the values of a,b,c for

each equation. 

Watch Video Solution

ax2 + bx + x = 0

x2 + 5x = − (3 − x)

11. Write the following equatratic equations in the

form . Write the value of a, b, c, for

each equation. 

Watch Video Solution

ax2 + bx + c = 0

3m2 = 2m2 − 9

https://dl.doubtnut.com/l/_Bz4XltJ5yGlT
https://dl.doubtnut.com/l/_Y9T6rANo4Bmr
https://dl.doubtnut.com/l/_09V1aPAleAAu


12. Write the following equatratic equations in the

form . Write the value of a, b, c, for

each equation. 

Watch Video Solution

ax2 + bx + c = 0

p(3 + 6p) = − 5

13. Write the following equatratic equations in the

form . Write the value of a, b, c, for

each equation. 

Watch Video Solution

ax2 + bx + c = 0

x2 − 9 = 13

https://dl.doubtnut.com/l/_09V1aPAleAAu
https://dl.doubtnut.com/l/_1mW1XpCk8fDw


14. Determine whether the values given against each

of the quadratic equations are the roots of the

quadratic equation or not : 

Watch Video Solution

x2 + 4x − 5 = 0, x = 1, − 1

15. Determine whether the values given against each

of the quadratic equation are the roots of the

equation. 

Watch Video Solution

2m2 − 5m = 0, m = 2,
5

2

https://dl.doubtnut.com/l/_D5IgRObgPHGC
https://dl.doubtnut.com/l/_tTwO16njqkcH
https://dl.doubtnut.com/l/_u1DW5JBD4uSh
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16. Find k if x=3 is a root of equation

.

Watch Video Solution

kx2 − 10x + 3 = 0

17. One of the roots of equation  is

. Find the value of 'k'.

Watch Video Solution

5m2 + 2m + k = 0

−
7
5

https://dl.doubtnut.com/l/_u1DW5JBD4uSh
https://dl.doubtnut.com/l/_oaRNT9nzbFpu


1. Solve the following quadratic equations by

factorization. 

Watch Video Solution

x2 − 15x + 54 = 0

2. Solve the following quadratic equations by

factorization. 

Watch Video Solution

x2 + x − 20 = 0

https://dl.doubtnut.com/l/_MRkiKaOlMhro
https://dl.doubtnut.com/l/_meDuecKbTDl4


3. Solve the following quadratic equations by

factorization. 

Watch Video Solution

2y2 + 27y + 13 = 0

4. Solve the following quadratic equations by

factorization. 

Watch Video Solution

5m2 = 22m + 15

https://dl.doubtnut.com/l/_uVKechfeHzmh
https://dl.doubtnut.com/l/_0uWhI0wlKaBn


5. Solve the following quadratic equations by

factorization. 

Watch Video Solution

2x2 − 2x + = 0
1

2

6. Solve the following quadratic equations by

factorization. 

Watch Video Solution

6x − = 1
2

x

https://dl.doubtnut.com/l/_N7bQCUPWQKt9
https://dl.doubtnut.com/l/_Q1wXGSWFcDIQ


7. Solve each of the following quadratic equations: 

Watch Video Solution

√2x2 + 7x + 5√2 = 0

8. Solve the following quadratic equations by

factorization. 

Watch Video Solution

3x2 − 2√6x + 2 = 0

9. Solve the following quadratic equations by

factorization. 

https://dl.doubtnut.com/l/_4lmyujr78AP4
https://dl.doubtnut.com/l/_EHPkWWgstbmW
https://dl.doubtnut.com/l/_kuXG30KE3gWb


2m(m-24)=50

Watch Video Solution

10. Solve the following quadratic equations by

factorization. 

.

Watch Video Solution

25m2 = − 9

11. Solve the following quadratic equations by

factorization. 

Watch Video Solution

7m2 = 21m

https://dl.doubtnut.com/l/_kuXG30KE3gWb
https://dl.doubtnut.com/l/_7z8XUzzyD94R
https://dl.doubtnut.com/l/_cMwXTnYNzp0i
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12. Solve the following quadratic equations by

factorization. 

Watch Video Solution

m2 − 11 = 0

1. Solve the following quatratic equations by

completing square method : 

Watch Video Solution

x2 + x − 20 = 0

https://dl.doubtnut.com/l/_cMwXTnYNzp0i
https://dl.doubtnut.com/l/_Sjx7aqSLNsUW
https://dl.doubtnut.com/l/_GzHAsi9KYsHU


2. Solve the following quatratic equations by

completing square method : 

Watch Video Solution

x2 + 2x − 5 = 0

3. Solve the following quatratic equations by

completing square method : 

Watch Video Solution

m2 − 5m = − 3

https://dl.doubtnut.com/l/_GzHAsi9KYsHU
https://dl.doubtnut.com/l/_QnE6ccx2dv2t
https://dl.doubtnut.com/l/_OPrDUkAwSmro


4. Solve the following quadratic equations by

completing the square method. 

Watch Video Solution

9y2 − 12y + 2 = 0

5. Solve the following quatratic equations by

completing square method : 

Watch Video Solution

2y2 + 9y + 10 = 0

https://dl.doubtnut.com/l/_7wHFmqMu3Mza
https://dl.doubtnut.com/l/_eKcqerKSilpr
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6. Solve the following quatratic equations by

completing square method : 

Watch Video Solution

5x2 = 4x + 7

1. Find the values of a,b,c for the following quadratic

equations by comparing with standard form : 

Watch Video Solution

x2 − 7x + 5 = 0

https://dl.doubtnut.com/l/_a1Vi4hdPlvfK
https://dl.doubtnut.com/l/_b6BxIHYoKiFY
https://dl.doubtnut.com/l/_4OkhbrZPFoe0


2. Find the values of a,b,c for the following quadratic

equations by comparing with standard form : 

Watch Video Solution

2m2 = 5m − 5

3. Find the values of a,b,c for the following quadratic

equations by comparing with standard form : 

Watch Video Solution

y2 = 7y

https://dl.doubtnut.com/l/_4OkhbrZPFoe0
https://dl.doubtnut.com/l/_vqXyxemw4XhD


4. Solve using formula. 

Watch Video Solution

x2 + 6x + 5 = 0

5. Solve the following quadratic equations by using

formula method : 

Watch Video Solution

x2 − 3x − 2 = 0

6. Solve the following quadratic equations by using

formula method : 

https://dl.doubtnut.com/l/_JFP7BoCrQFHU
https://dl.doubtnut.com/l/_jVsP2maFk2uI
https://dl.doubtnut.com/l/_HeZzOdZbneEx


Watch Video Solution

3m2 + 2m − 7 = 0

7. Solve the following quadratic equations by using

formula method : 

Watch Video Solution

5m2 − 4m − 2 = 0

8. Solve the following quadratic equations by using

formula method : 

Watch Video Solution

y2 + y = 2
1

3

https://dl.doubtnut.com/l/_HeZzOdZbneEx
https://dl.doubtnut.com/l/_I8RIrHtp1hm3
https://dl.doubtnut.com/l/_IbW0gei56Q7x


9. Find the roots of the quadratic equations by using

the quadratic formula in each of the following 

Watch Video Solution

5x2 + 13x + 8 = 0

10. With the help of the flow chart given below solve

the equation  using formula. 


Watch Video Solution

x2 + 2√3x + 3 = 0

https://dl.doubtnut.com/l/_IbW0gei56Q7x
https://dl.doubtnut.com/l/_GkTBhm9yedTs
https://dl.doubtnut.com/l/_j6c2iRDbMAjW
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1. Find the value of discriminant. 

Watch Video Solution

x2 + 7x − 1 = 0

2. Find the value of discriminant. 

Watch Video Solution

2y2 − 5y + 10 = 0

https://dl.doubtnut.com/l/_j6c2iRDbMAjW
https://dl.doubtnut.com/l/_OgwKAhFpP7Jd
https://dl.doubtnut.com/l/_pMb5WDHgf99Z


3. Find the value of discriminant. 

Watch Video Solution

√2x2 + 4x + 2√2 = 0

4. Determine the nature of roots of the following

quadratic equations. 

Watch Video Solution

x2 − 4x + 4 = 0

5. Determine the nature of roots of the following

quadratic equations. 

https://dl.doubtnut.com/l/_4MvfOoIlLGM0
https://dl.doubtnut.com/l/_Eo6Q6Uvq3trC
https://dl.doubtnut.com/l/_8X2xWQ5D7R8Z


Watch Video Solution

2y2 − 7y + 2 = 0

6. Determine the nature of roots of the following

quadratic equations. 

Watch Video Solution

m2 + 2m + 9 = 0

7. The roots of the each of the following quadratic

equations are real and equal, find k. 

Watch Video Solution

3y2 + ky + 12 = 0

https://dl.doubtnut.com/l/_8X2xWQ5D7R8Z
https://dl.doubtnut.com/l/_yMrsry3rR2Cz
https://dl.doubtnut.com/l/_L0APpT2X1msR


8. Find the
values of 
for which
the roots are real and

equal in the following equations:


(ii) 

Watch Video Solution

k

kx(x − 2) + 6 = 0

x2 − 4kx + k = 0

https://dl.doubtnut.com/l/_L0APpT2X1msR
https://dl.doubtnut.com/l/_pxG1gMuitHDH


9. Fill in the gaps and complete. 

(i)  


Watch Video Solution

      α × β = =
c

a

−3

2

10. Sum of the roots of a quadratic equation is double

their product. Find k if equation is

https://dl.doubtnut.com/l/_F95s8HzEWqCZ
https://dl.doubtnut.com/l/_q0TnBwSmeDX8


.

Watch Video Solution

x2 − 4kx + k + 3 = 0

11.  are roots of  find, 


(i) 

Watch Video Solution

α, β y2 − 2y − 7 = 0

α2 + β2           (ii) α3 + β3

12. Form the quadratic equation from the roots given

below. 

0 and 4

Watch Video Solution

https://dl.doubtnut.com/l/_q0TnBwSmeDX8
https://dl.doubtnut.com/l/_XHpQHs46i8cS
https://dl.doubtnut.com/l/_6dWKIWq5ME86


13. Form the quadratic equation from the roots given

below. 

3 and -10

Watch Video Solution

14. Form the quadratic equation from the roots given

below. 

 and 

Watch Video Solution

1

2

−1

2

https://dl.doubtnut.com/l/_01Z3iUC0ZyKZ
https://dl.doubtnut.com/l/_FzHnc9wXmwsS
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15. Form the quadratic equation from the roots given

below. 

 and 

Watch Video Solution

2 − √5 2 + √5

1. Product of Pragati's age 2 years ago and 3 years

hence is 84. Find her present age.

Watch Video Solution

https://dl.doubtnut.com/l/_O3ZEP9LKJCvz
https://dl.doubtnut.com/l/_18VGPKKKx1aS


2. Vivek is older than Kishor by 5 years. The sum of the

reciprocals of their ages is . Find their present age.

Watch Video Solution

1

6

3. The sum of squares of two consecutive even natural

number is 244. Find the numbers.

Watch Video Solution

4. If 460 is divided by a natural number, quotient is 6

more than 5 times the divisor and remainder is 1 then

find quotient and divisor.

https://dl.doubtnut.com/l/_dLQVGndo5dfn
https://dl.doubtnut.com/l/_L34NCJ3KMDGk
https://dl.doubtnut.com/l/_4dDJ0ylMh3UW


Watch Video Solution

5. Mr. Kasam runs a small business of making earthen

pots. He makes certain number of pots on daily basis.

Production cost of each pot is Rs. 40 more than 10

times total number of pots, he makes in one day. If

production cost of all pots per day is Rs. 600, find

production cost of one pot and number of pots he

makes per day.

Watch Video Solution

https://dl.doubtnut.com/l/_4dDJ0ylMh3UW
https://dl.doubtnut.com/l/_0J4osFPCHX9m


6. Suyash scored 10 marks more in second test than

that in first. 5 times the score of the second test is

same as square of the score in first test. Find his score

in first test.

Watch Video Solution

7.  


In the above fig.  ABCD is a trapezium AB CD and□ ∣∣

https://dl.doubtnut.com/l/_jh0390J2r8nW
https://dl.doubtnut.com/l/_gx10TeyaLZCr


its area is 33 . From the information given in the

figure, find the lengths of all sides of the  ABCD. Fill

in the empty boxes to get the solution.

Watch Video Solution

cm2

□

8. Pintu takes 6 days more than those of Nishu to

complete certain work. If they work together, they

finish it in 4 days. How many days would it take to

complete the work if they work alone?

Watch Video Solution

https://dl.doubtnut.com/l/_gx10TeyaLZCr
https://dl.doubtnut.com/l/_YTQjeuifSuQv


9. Pratik takes 8 hours to travel 36 km downstream and

return to same spot. The speed of boat in still water is

12km/hr. Find the speed of the water current.

Watch Video Solution

10. In the orange garden of Mr. Madhusudan there are

150 orange trees. The number of trees in each rows

are 5 more than that in each column. Find the number

of trees in each rows and each column with the help

https://dl.doubtnut.com/l/_8u5qJFCiakl9
https://dl.doubtnut.com/l/_sEGpxCFUbja5


Problem Set 2

of following flow chart. 

Watch Video Solution

1. Which of the following are quadratic equations? 

Watch Video Solution

x2 + 2x + 11 = 0

https://dl.doubtnut.com/l/_sEGpxCFUbja5
https://dl.doubtnut.com/l/_GM6aW7p5icad


2. Which of the following are quadratic equations? 

Watch Video Solution

x2 − 2x + 5 = x2

3. Which of the following are quadratic equations? 

Watch Video Solution

(x + 2)2 = 2x2

4. One of the roots of quadratic equation

 is -2, find k.

Watch Video Solution

2x2 + kx − 2 = 0

https://dl.doubtnut.com/l/_gROrsNCHsUCc
https://dl.doubtnut.com/l/_WNS2lrdQZlxo
https://dl.doubtnut.com/l/_BDUdWRzD6YHR


5. Solve the following quadratic equations: 

Watch Video Solution

(2x + 3)2 = 25

6. Solve the following quadratic equations: 

Watch Video Solution

x2 − − = 0
3x

10

1

10

7. Solve the following quadratic equations : 

=
1

x + 5

1

x2

https://dl.doubtnut.com/l/_BDUdWRzD6YHR
https://dl.doubtnut.com/l/_z2LQhUFWc7Av
https://dl.doubtnut.com/l/_DoPBxYvlOJcQ
https://dl.doubtnut.com/l/_54QBILQK1Iyx


Watch Video Solution

8. Solve the following quadratic equations : 

Watch Video Solution

m2 + 5m + 5 = 0

9. Solve the following quadratic equations : 

Watch Video Solution

5m2 + 2m + 1 = 0

https://dl.doubtnut.com/l/_54QBILQK1Iyx
https://dl.doubtnut.com/l/_byxTCC7l033U
https://dl.doubtnut.com/l/_0t8HB5cOCAZm


10. Solve the following quadratic equations :

Watch Video Solution

x2 − 4x − 3 = 0

11. Find the value of discriminant for each of the

following equations. 

Watch Video Solution

2y2 − y + 2 = 0

12. Find the value of discriminant for each of the

following equations. 

https://dl.doubtnut.com/l/_utiT2XWJjTDy
https://dl.doubtnut.com/l/_RjqCCX5lO4cL
https://dl.doubtnut.com/l/_r8Ce3l6TijqN


Watch Video Solution

5m2 − m = 0

13. Find the value of discriminant for each of the

following equations. 

Watch Video Solution

√5x2 − x − √5 = 0

14. Determine the nature of roots for each of the

quadratic equations. 

Watch Video Solution

3x2 − 5x + 7 = 0

https://dl.doubtnut.com/l/_r8Ce3l6TijqN
https://dl.doubtnut.com/l/_JY7vU1UA8fYt
https://dl.doubtnut.com/l/_VGltHQNtX2Gg


15. Determine the nature of roots for each of the

quadratic equations. 

Watch Video Solution

√3x2 + √2x − 2√3 = 0

16. Determine the nature of roots for each of the

quadratic equations. 

Watch Video Solution

m2 − 2m + 1 = 0

https://dl.doubtnut.com/l/_VGltHQNtX2Gg
https://dl.doubtnut.com/l/_PZS1Vo1OXWJL
https://dl.doubtnut.com/l/_Zq4xElZYv6d2


17. Find m, if the quadratic equation

 has real and

eqaul roots.

Watch Video Solution

(m − 12)x2 + 2(m − 12)x + 2 = 0

18. Two roots of quadratic equations are given, frame

the equation. 

10 and -10

Watch Video Solution

https://dl.doubtnut.com/l/_YDiRTCFSwOvH
https://dl.doubtnut.com/l/_B7gjnWP9no76


19. Two roots of quadratic equations are given, frame

the equation. 

Watch Video Solution

1 − 3√5  and 1 + 3√5

20. Two roots of quadratic equations are given, frame

the equation. 

0 and 7

Watch Video Solution

https://dl.doubtnut.com/l/_mOmHyxbtvbyK
https://dl.doubtnut.com/l/_OYNyp9ey9Xts


21. The sum of two roots of a quadratic equation is 5

and the sum of their cubes is 35. Find the equation.

Watch Video Solution

22. Find quadratic equation such that its roots are

square of sum of the roots and square of difference of

the roots of equation 

Watch Video Solution

2x2 + 2(p + q)x + p2 + q2 = 0

23. The difference between the squares of two

numbers is 120. The square of the smaller number is

https://dl.doubtnut.com/l/_mBNARyjnSXmB
https://dl.doubtnut.com/l/_hmwzGAoZ7cRw
https://dl.doubtnut.com/l/_nv3J1TmfaWHf


twice the greater number. Find the numbers.

Watch Video Solution

24. Mukund possesses RS 50 more than what Sagar

possesses. The product of the amount they have is

numerically RS 15000. Find the amount each has.

Watch Video Solution

25. Ranjana wants to distribute 540 oranges among

some students. If 30 students were more each would

get 3 oranges less. Find the number of students.

Watch Video Solution

https://dl.doubtnut.com/l/_nv3J1TmfaWHf
https://dl.doubtnut.com/l/_JP116Gf6iyRb
https://dl.doubtnut.com/l/_w22vV1ckK7SU


26. Mr. Dinesh owns an agricultural farm at village

Talvel. The length of the farm is 10 meter more than

twice the breadth. In order to harvest rain water, he

dug a square shape pond inside the farm. The side of

pond is  times of the breadth of the farm. The area

of the farm is 20 times the area of the pond. Find the

length and breadth of the farm and of the pond.

Watch Video Solution

1

3

27. A tank fills completely in 2 hours if both the taps

are open. If only one of the taps is open at the given

https://dl.doubtnut.com/l/_w22vV1ckK7SU
https://dl.doubtnut.com/l/_5MvrFNJH8tdU
https://dl.doubtnut.com/l/_YrZkDuZ8ciaP


time, the smaller tap takes 3 hours more than the

larger one to fill the tank. How much time does each

tap take to fill the tank completely.

Watch Video Solution

28. Which one is the quadratic equation ?

A. 

B. x(x+5)=2

C. n-1=2n

D. 

Answer: B

− 3 = x25

x

(x + 2) = x
1

x2

https://dl.doubtnut.com/l/_YrZkDuZ8ciaP
https://dl.doubtnut.com/l/_67pp63gCgkqB


Watch Video Solution

29. Out of the following equations which one is not a

quadratic equation ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + 4x = 11 + x2

x2 = 4x

5x2 = 90

2x − x2 = x2 + 5

https://dl.doubtnut.com/l/_67pp63gCgkqB
https://dl.doubtnut.com/l/_J0PPXzrargwj
https://dl.doubtnut.com/l/_HXW3pLThEU2i


30. The roots of  are real and equal,

find k.

A. 0

B. 4

C. 0 or 4

D. 2

Answer: C

Watch Video Solution

x2 + kx + k = 0

31. Which of the following is the value of the

discriminant for √2x2 − 5x + √2 = 0?

https://dl.doubtnut.com/l/_HXW3pLThEU2i
https://dl.doubtnut.com/l/_jcj4KYMmVXRb


A. -5

B. 17

C. 

D. 

Answer: B

Watch Video Solution

√2

2√2 − 5

32. Which of the following quadratic equations has

roots 3,5 ?

A. 

B. 

x2 − 15x + 8 = 0

x2 − 8x + 15 = 0

https://dl.doubtnut.com/l/_jcj4KYMmVXRb
https://dl.doubtnut.com/l/_YUCuhhmOhxyD


C. 

D. 

Answer: B

Watch Video Solution

x2 + 3x + 5 = 0

x2 + 8x − 15 = 0

33. Out of the following equations, find the equation

having the sum of its roots -5. A)  B)

 C)  D)

A. 

B. 

3x2 − 15x + 3 = 0

x2 − 5x + 3 = 0 x2 + 3x − 5 = 0

3x2 + 15x + 3 = 0

3x2 − 15x + 3 = 0

x2 − 5x + 3 = 0

https://dl.doubtnut.com/l/_YUCuhhmOhxyD
https://dl.doubtnut.com/l/_CvHKzCJKVFAt


C. 

D. 

Answer: D

Watch Video Solution

x2 + 3x − 5 = 0

3x2 + 15x + 3 = 0

34.  which of the following

statement is true for this given equation ? A)real and

unequal roots B)real and equal roots C)no real roots

D)three roots

A. real and unequal roots

B. real and equal roots

√5m2 − √5m + √5 = 0

https://dl.doubtnut.com/l/_CvHKzCJKVFAt
https://dl.doubtnut.com/l/_sGQnQoEqlZYC


C. no real roots

D. three roots

Answer: C

Watch Video Solution

35. One of the roots of equation  is

2 find m.

A. -2

B. 

C. 

D. 2

x2 + mx − 5 = 0

−1

2

1

2

https://dl.doubtnut.com/l/_sGQnQoEqlZYC
https://dl.doubtnut.com/l/_RPtW0u3OEbFG


Answer: C

Watch Video Solution

36. The sum of roots  = ……………… A)  B)  C)

 D)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(α + β)
−b

a

b

a
−c

a

c

a

−b

a

b

a

−c

a

c

a

https://dl.doubtnut.com/l/_RPtW0u3OEbFG
https://dl.doubtnut.com/l/_B1DOcz0mjGF7


Watch Video Solution

37. The roots of a quadratic equation

 are ………….

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 − 16y + 63 = 0

−9 and − 7

−9 and 7

9 and − 7

9 and 7

https://dl.doubtnut.com/l/_B1DOcz0mjGF7
https://dl.doubtnut.com/l/_WWbmuWCk35SC


38. If the roots of a quadratic equations are real and

equal, then  must be ………….. A)zero B)greater than

zero C)less than zero D)equal to one

A. zero

B. greater than zero

C. less than zero

D. equal to one

Answer: A

Watch Video Solution

Δ

https://dl.doubtnut.com/l/_23RPYOJubQxF


39. What is the value of k, If one root of the quadratic

equation  is 3

A. -1

B. 1

C. 3

D. none of these

Answer: C

Watch Video Solution

kx2 − 7x + 12 = 0

https://dl.doubtnut.com/l/_XgahjYD1K1G1


40. If one root of quadratic equations is  then

the other root is …………..

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1 − √3

1 − √3

−1 − √3

1 + 2√3

1 + √3

https://dl.doubtnut.com/l/_za9ldcySQqe3


41. If the roots of  are real and equal

then ………….. A)  B)  C)

 D)cannot say

A. 

B. 

C. 

D. cannot say

Answer: B

Watch Video Solution

ax2 + bx + c = 0

b2 − 4ac < 0 b2 − 4ac = 0

b2 − 4ac > 0

b2 − 4ac < 0

b2 − 4ac = 0

b2 − 4ac > 0

https://dl.doubtnut.com/l/_gsxpKbbsLjSi


42. The value of discriminant of the equation

 is …………

A. -4

B. -3

C. 3

D. 4

Answer: B

Watch Video Solution

x2 + x + 1 = 0

https://dl.doubtnut.com/l/_r50hl2qnUFSJ


43. In a quadratic equation with roots  and  where 

 and , then required equation

is ……………

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α β

α + β = − 4 αβ = − 1

x2 − 4x − 1 = 0

x2 + 4x − 1 = 0

x2 + 4x + 1 = 0

x2 − 4x + 1 = 0

https://dl.doubtnut.com/l/_6nt0RCY0RORt


44. The standard form of quadratic equation

 is ………….

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x − = 3x − 7
5

x

2x2 − 8x + 7 = 0

2x2 + 7x + 5 = 0

2x2 − 7x + 5 = 0

2x2 − 5x + 7 = 0

https://dl.doubtnut.com/l/_uw4O6lbrBtX7


45. What is the nature of roots of quadratic equations

?

A. real and unequal roots

B. equal

C. unequal

D. both A and B

Answer: D

Watch Video Solution

9x2 − 12x + 4 = 0

https://dl.doubtnut.com/l/_NuiOVv0dPuRR


46. Three times the square of natural number is 363 is

written in the mathematical equation form as ……………

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + 3 = 363

x2 − 3 = 363

3x2 = 363

= 363
x2

2

47. Which of the following is not a quadratic equatin?

https://dl.doubtnut.com/l/_17V98xDqssL0
https://dl.doubtnut.com/l/_ZcR2uwVfJrUH


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 = 2x + 9
−5

3

(x + 3)(x + 4)

− 3 = x25

x

= 3m + 5
7
m

48. The product of the roots  = …………..

A. 

B. 

(α × β)

−b

a

−c

a

https://dl.doubtnut.com/l/_ZcR2uwVfJrUH
https://dl.doubtnut.com/l/_GTng5T6tRlkr


C. 

D. 

Answer: D

Watch Video Solution

b

a

c

a

49. =……………

A. 

B. 

C. 

D. 

α3 + β3

(α + β)3 − 3αβ(α + β)

(α − β)3 + 3αβ(α − β)

(α + β)3 − 3αβ(α − β)

(α − β)3 − 3αβ(α − β)

https://dl.doubtnut.com/l/_GTng5T6tRlkr
https://dl.doubtnut.com/l/_Le1xM1i6RthT


Answer: A

Watch Video Solution

50. If one root of quadratic equatio is , then

the product of roots is …………..

A. 30

B. -20

C. 20

D. 125

Answer: C

Watch Video Solution

5 + √5

https://dl.doubtnut.com/l/_Le1xM1i6RthT
https://dl.doubtnut.com/l/_wDiClJFi1VHK


Problems For Practice

Watch Video Solution

1. If x=9 is one root of the quadratic equation

, then find the value of k.

Watch Video Solution

x2 − 11x + k = 0

2. If one root of the quadratic equation

 is , find the value of k.

Watch Video Solution

3y2 − ky + 8 = 0
2

3

https://dl.doubtnut.com/l/_wDiClJFi1VHK
https://dl.doubtnut.com/l/_9sDnG86J2d9k
https://dl.doubtnut.com/l/_uiDZuiK5R16i
https://dl.doubtnut.com/l/_Jky7EqeCuNH5


3. Determine whether the given values of x are the

roots of given quadratic equationn ,

Watch Video Solution

6x2 − x − 2 = 0

x = , x = 5
−1

2

4. which of the following are quadratic equations? 

 


 


(v) 

Watch Video Solution

(i) x − = 3x − 9  (ii) (x + 3)(x − 4) = 0
5

x

(iii) − 3 = x2  (iv) n3 − n + 4 = n35

x

x − 3 = 4x2

https://dl.doubtnut.com/l/_Jky7EqeCuNH5
https://dl.doubtnut.com/l/_wFtLZdGwXGF3


5. write the quadratic equations in 

form and find the values of a,b,c. 

 


Watch Video Solution

ax2 + bx + c = 0

(i) m(m − 7) = 0  (ii) = 7
x2 − 7

x

(iii) x − = 5  (iv) (x + 5)(x − 11)
6

x

6. Solve the following quadratic equations by

factorisation method : 

Watch Video Solution

x2 − 5x − 36 = 0

https://dl.doubtnut.com/l/_UKzZUXisMSqa
https://dl.doubtnut.com/l/_vhO68jvxoElS


7. Solve the following quadratic equations by

completing square method: 

Watch Video Solution

x2 + 8x + 15 = 0

8. Solve the following quadratic equations by using

formula method:  `

Watch Video Solution

3x2 + 8x + 3 = 0

9. Find the value of discriminant for each of the

following quadratic equations: 

https://dl.doubtnut.com/l/_jRrUDdwLED4R
https://dl.doubtnut.com/l/_86p1DhEcMxdR
https://dl.doubtnut.com/l/_M54n5YodFGrU


 


Watch Video Solution

(i) x2 + 4x + 4 = 0  (ii) x2 + 4x + 1 = 0

(iii) 3x2 + 2x + 1 = 0

10. Determine the nature of roots of the following

quadratic equations from their discriminants:

Watch Video Solution

x2 − 8x + 16 = 0

11. Form the quadratic equation if its roots are `"(i) " 0

and -4 "

Watch Video Solution

https://dl.doubtnut.com/l/_M54n5YodFGrU
https://dl.doubtnut.com/l/_r3mADpXPeIMg
https://dl.doubtnut.com/l/_iTOh7GePJh2T


12. Find the value of k for which given quadratic

equations are real and equal roots. 

Watch Video Solution

(i) k2x2 − 2(k − 1)x + 4 = 0  (ii) 4x2 − 3kx + 1 = 0

13. If  and  are the roots of equation 

, find (i)  (ii) 

Watch Video Solution

α β

x2 − 4x + 1 = 0 α2 + β2 α3 + β3

https://dl.doubtnut.com/l/_iTOh7GePJh2T
https://dl.doubtnut.com/l/_kcsveQM41OhP
https://dl.doubtnut.com/l/_fVX4f0qK9Kd4


14. Find k, if one root of the equation

 is five times the other.

Watch Video Solution

5x2 + 6x + k = 0

15. A man riding on a bicycle covers a distance of 60

km in a direction of wind and comes back to his

original position in 8 hours. If the speed of the wind is

10 km/hr, find the speed of the bicycle.

Watch Video Solution

https://dl.doubtnut.com/l/_SopN3n0hj0Wp
https://dl.doubtnut.com/l/_uJWLK60kpyG0


16. One tank can be filled up by two taps in 6 hours.

The smaller tap alone takes 5 hours more than the

bigger tap alone. Find the time required by each tap

to fill the tank separately.

Watch Video Solution

17. The sum of the squares of two consecutive natural

numbers is 113. Find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_FJpShWXTHZXK
https://dl.doubtnut.com/l/_U8dFm28bZDU2


18. The sum of the squares of two consecutive even

natural numbers is 100. Find the numbers.

Watch Video Solution

19. For doing some work, Ganesh takes 10 days more

than John. If both work together, they will completen

the work in 12 days. Find the number of days if Ganesh

work alone?

Watch Video Solution

https://dl.doubtnut.com/l/_H49ez5oLWyyL
https://dl.doubtnut.com/l/_yFRgWaEtzRGd


20. In garden, there are some rows and columns. The

number of trees in a row is greater than that in each

column by 10. Find the number of trees in each row if

the total number of trees are 200.

Watch Video Solution

21. 3 वर्ष पूर्व रहमान कि आयु (वर्षो में ) का वयुक्तक्र्म और अब से 5

वर्ष पश्चात आयु के  वयुक्तक्र्म का योग  है । उसकी वर्तमान आयु

ज्ञात कीजिए ।

Watch Video Solution

1

3

https://dl.doubtnut.com/l/_Pz4e3lGBPizt
https://dl.doubtnut.com/l/_rfPw7gPxPMDx


Assignment

1. If  and  are the roots of quadratic equation 

, then the value of 

A. -2

B. 2

C. 34

D. -4

Answer:

Watch Video Solution

α β

2x2 + 4x + 3 = 0 α + β =

https://dl.doubtnut.com/l/_8YMJc0e5fNNx
https://dl.doubtnut.com/l/_k6MMjQk6rkX9


2. Write the following quadratic equations in standard

form: (m+4)(m-10)=0

Watch Video Solution

3. If sum of the roots of quadratic equations is 10 and

the product is 9, then form the quadratic equation:

Watch Video Solution

4. Find the values of a,b,c for the following quadratic

equation by comparing with standard form:

Watch Video Solution

x2 − x − 3 = 0

https://dl.doubtnut.com/l/_k6MMjQk6rkX9
https://dl.doubtnut.com/l/_dtsCy6EXDJiD
https://dl.doubtnut.com/l/_kB9pblyPE3tF


5. Solve by factorization method : 

Watch Video Solution

m2 − 25 = 0

6. If  and , then form the quadratic

equation.

Watch Video Solution

α = − 5 β = 9

7. Vivek is older than Kishor by 5 years. The sum of the

reciprocals of their ages is . Find their present age.

Watch Video Solution

1

6

https://dl.doubtnut.com/l/_kB9pblyPE3tF
https://dl.doubtnut.com/l/_jP0w787ToxDk
https://dl.doubtnut.com/l/_dl86AjotiGjO
https://dl.doubtnut.com/l/_5MxR9wiNOhMP


Watch Video Solution

8. Solve the following quadratic equation by formula

method: 

Watch Video Solution

x2 + 6x + 5 = 0

9. If  and  are the roots of quadratic equation 

 then, find (i)  (ii) 

Watch Video Solution

α β

x2 + 5x − 1 = 0 α3 + β3 α2 + β2

10. For doing some work, Pintu takes 6 days more than

Nishu. If both work together, they complete the work

https://dl.doubtnut.com/l/_5MxR9wiNOhMP
https://dl.doubtnut.com/l/_Qwp0Pk0lG7jY
https://dl.doubtnut.com/l/_pooPCJp4lK4o
https://dl.doubtnut.com/l/_tfxR2QHeh5ov


in 4 days. Find the number of days if Pintu and Nishu

work alone.

Watch Video Solution

11. Find m, if the quadratic equation

 has real and

eqaul roots.

Watch Video Solution

(m − 12)x2 + 2(m − 12)x + 2 = 0

12. Pratik travels by boat 36 km down a river and back

in 8 hours. If the speed of his boat in still water is 12

km/hr, find the speed of the river current.

https://dl.doubtnut.com/l/_tfxR2QHeh5ov
https://dl.doubtnut.com/l/_RPbR4enS4sc0
https://dl.doubtnut.com/l/_5sulqVBrZCJe


Watch Video Solution

https://dl.doubtnut.com/l/_5sulqVBrZCJe

